13.5

ACID – BASE TITRATIONS
Neutralization reactions: 

A. 
REMEMBER: 
Acid  +  Base   →  

    +  

B. 
Example: 
       H2SO4  +    KOH   →  

    +
C.  
What pH can you expect if there is equal H+ and OH-?

D. 
What pH can you expect if there is an excess of H+?
E.
What pH can you expect if there is an excess of OH-?

F. 
In order for a neutralization reaction to be complete, what has to take place?
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Titration - the process of gradually adding one reactant to another reactant containing an indicator until a color change signals that equivalent amounts of reactants have been reached. 

  





At the equivalence point you have equal moles of 
H+  and OH-
Titration Formula:
     ______________________________________________________
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In a titration: The molarity AND volume of either the acid or the base and the molarity OR volume of the other is KNOWN. The three known are used to calculate the UNKNOWN.
Examples:
WRITE THE BALANCED CHEMICAL EQUATION AND THEN USE THE TITRATION FORMULA TO SOLVE

1.  In a titration 21.4 mL of a 0.0154 M solution of Ba(OH)2 are added to a 20.0 mL sample of HCI. What is the molarity of HCI? 

2.  What volume of 0.35 M Sr(OH)2 will have to be added to 15.0 mL of 0.750 M HF?

ACID – BASE TITRATIONS HOMEWORK
Write the balanced chemical equation and then use the titration formula to solve the following problems. You much show work to receive credit!

1.  What is the molarity of a nitric acid solution if 21.0 mL are needed to completely neutralize 25.0 mL of 0.300 M sodium hydroxide? 

2.  If 33.5 mL of a 0.200 M solution of Ca(OH)2 is used to titrate 0.300 M HCl, what was the volume (in mL) of the acid? 

3.  What volume of 0.326 M LiOH is needed to completely neutralize 19.4 mL of 0.250 M H2SO4? 

